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Expanding/Factoring Review Practice (Optional) :Q’)C "1'4 ) C?JH'A} )
1) Expand and Simplify m f
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2 +47+y Z=0 b=5 (aD* - (33 =0

- ZY( y41) Fly42) =0
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f. n?+22n+21

(a1+7) (A1-1) =0
\ m.}12x% + 19x + 4 0&(,-142344? 4-8
(x+n)(1+n)’0/@—1 TG +4 | L=

Yy+2=0 ZyH;E\K -
— 2y = -l \ = -l 2 (44 +) +4 (AlH) | t :g _.?;c;g

| el

R A2
(A+DL-1)=D
A= 1, ’7

Homework: Worksheet - Solving Equations
Worksheet (pg. 279) # 8, 9, 10, 15 TIPS practice: #11

= (42+) 31 +4) ]
n. 4x* =5x + 16

¥ Usit Teor will be on Thmrsdaq Moy 7,



8. A rectangle has UMENSIONS X + 10 4y
"5y — 3. Determine the value of x th,
gives an area of 54 cm®.
— Ara=Lxw

('x‘“ir

9. Write a gquadratic equation in factored
form for each situation.

10. a) Write a quadratic equation in the
form ax? + bx + ¢ = 6 With roots
of 6 and —7.
b) What would happen 1o the roots if
you multiplied both sides of the
eqnatiﬁnm p lain.

45, For the egualm:n:«;;;z =15
 suggested dividing both sigleg 4,
Jeaving 1 = 5. Are there ay o
that satisfy thig equat e
with Chris’s meathoedy it ;3 8 Wron)

b YRR A8 gy

sppropriste methody . oeme

Answers

8.35cm
9.a)(x—5)(x—4) =0
10.a)x2+x—-42=0

b)(x+2)(x-3)=0

b) the roots remain the same because the quadratic equation is equivalent to x2 + x — 42 = 0 and will have the

same factors.

15.n = 0 will also satisfy the equation. If Chris wants to divide out a common factor, it should not contain any
variables. Chris should subtract 15n from both sides of the equation by 3 and then solve by factoring.

11.15x2 4+ 2x -8 =0

8. 54= fx

k,/‘—_\) )
54 = (L+10) (24-2
N 2l
54 = oo =33 + 204 —2p

O = 2 =34 +205 =30 54

0= 20"+ 179 -84
0= 2>C +24 -1 -3Y
0= (X +12) -7 (x +1)|
0= (A+12) (24~
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MO & class - MPM2D
Y e = zews = 5, 4
Factored fom = Q=0 (1) (15
Q) Y=a(A=5) (L—4)

})> rocts = —2  ond 3

Rttt W =042y (1=3

#+10. %‘: (’i-é@/é}l,_/-[—j): O

A+ — X —42 =0
D A +X —Y42 =0
%) 3O —42) = 3 40
3(X 142 =0
3(A-6) OL+7) =D
A= 6, —7

No thy stll  hae Same aaswer,

#15. 30 = 150 (Chis shggested )

3n 3n:

n = 5 COF\C So(wb«‘m>

2n(n—=5)=0

2n° = 15 >
3 — 154 = / 30=0 o NE=D

n= 0 Lia's



